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Here is one whole square, divided into tenths: 
 

Lightly shade four tenths of the square: 

 

 

 

 

 

 

 

This square has 0.4 shaded. 

Divide the shaded region into  

ten equal parts: 

 

 

 

 

 

Now shade 0.6 (6 tenths) of the shaded part  

a darker shade.  

This is finding 0.6 of 0.4   

   

   0.4 x 0.6  

 

 

Your image should look like this: 

 

 

 

 

 

 

 

 
 

How much of the one whole is shaded? 

________    

Write your answer as a  

common fraction.    

0.6 

0.4 

0.4 

tenths 

te
n
th

s
 

Redraw your shaded region 0.4 x 0.6 

onto this grid showing hundredths. 
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Multiplying a Tenth by a Tenth A 

Here is a whole one 

This picture shows what happens when you multiply tenths by tenths: 

   

  0.4 x 0.2 = ______ 

 

0.4 is shaded, then 0.2 of the shaded region is  

shaded again.  

The twice-shaded region shows 0.2 (or 2 tenths) of 0.4. 

 

What happened to the 0.4 shaded area 

when you found 2 tenths of it, did it  

get larger or smaller?  

__________________________ 

 

In fact the 0.4 area was reduced to 2 tenths of its size.  

How much of the square is shaded twice? __________ 
 

When you multiply a decimal by a decimal, the answer is ____________ than the original 

number.            (smaller, larger) 

Shade and answer these questions: 
 

 1) 0.5 x 0.3 = ______ 

 

Write your answer as  

a common fraction:  

 

Write your answer in words: 

 

_____________________________________ 

 

 

  2) 0.7 x 0.8 = ______ 

 

Write your answer as  

a common fraction:  

 

Write your answer in words: 

 

_____________________________________ 
 

 

 

 

 

When you multiply a tenth by a tenth the answer is in _________________ .   

                    (ones, tenths, hundredths) 

0.4 

0.2 
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When you multiply a tenth by a tenth the answer is one _____________ :  

                        (one, tenth, hundredth) 

  0.1 x 0.1 = 0.01         

   

  0.7 x 0.3 = ______ 

 

Shade 0.7 then shade 0.3 of the 7 tenths: 

 

  7 x 3 = 21   so    0.7 x 0.3 = ______ 

 

 

 

 

  

Shade and answer this question: 

 

  

  0.6 x 0.8 = ______ 
 

 

 

 

 

 

Now complete these:  

 

1) 0.6 x 0.4 =  ______ 2) 0.7 x 0.2 =  ______  3)  0.5 x 0.9 =  ______ 
 

 

 

 

 

 

4) 0.8 x 0.2 =  ______ 5) 0.6 x 0.7 =  ______  6)  0.4 x 0.9 =  ______ 
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